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R (1000 × )2 × × /km 



= 2 × ×  ×1000 V



V ×  × .    ×   ÷ + ×   × .    ×   ÷ 1.89  1.9 V
V ×  × .    ×   ÷ + ×   × .    ×   ÷ 2.90  2.9 VV ×  × .    ×   ÷ + ×   × .    ×   ÷ 5.46  5.5 V































































= + ( ) +  ( ) + +  ( )

= . (0.66 × 1208) = 996.6  997
= . 2.00 × 1208 + 1.98 × (252  1208) = 653.9  654 
= 10.8 9.44 × 1208 + 9.43 × (252  1208) + 8.72 × (236  252)
= 2811.1  2812 = . 24.32 × 1208 + 24.31 × (252  1208) + 23.32 × (236  252)+15.32 × (157  236) = 5693.5  5694








